

Q. 20.  $\Rightarrow$  If  $y = a \cos(\log x) + b \sin(\log x)$ , Prove that

$$(i) x^2 y_2 + x y_1 + y = 0$$

$$(ii) x^2 y_{n+2} + (2n+1) x y_{n+1} + (\cancel{n^2+1}) y_n = 0$$

Ans.  $\Rightarrow \therefore y = a \cos(\log x) + b \sin(\log x)$

D. b. S. w. r. t.  $x$ , we have

$$y_1 = a x^{-1} \sin(\log x) + b x^{-1} \cos(\log x)$$

$$y_1 = \frac{1}{x} [-a \sin(\log x) + b \cos(\log x)]$$

$$x y_1 = -a \sin \log x + b \cos \log x$$

Agam D. b. s. wr. f. x, we have

$$y_1 + \alpha y_2 = -a \cos(\log \alpha) \times \frac{1}{\alpha} + b \alpha - \sin(\log \alpha) \times \frac{1}{\alpha}$$

$$\text{or, } y_1 + \alpha y_2 = -\frac{1}{\alpha} [a \cos \log \alpha + b \sin \log \alpha]$$

$$\text{or, } \alpha y_1 + \alpha^2 y_2 = -y$$

$$\therefore \alpha^2 y_2 + \alpha y_1 + y = 0 \quad \left[ \begin{array}{l} \text{(i) खरने पर शरी खावत हा गया तथा} \\ \text{(ii) खरने पर शुरु पूरा लिखना} \end{array} \right]$$

diff. n times by Leibnitz's theorem, we have

$$y_{m+2} \alpha^2 + n_1 y_{m+1} \times 2\alpha + n_2 y_m \times 2 + [y_{m+1} \cdot \alpha + n_1 \cdot y_m \cdot 1] + y_m = 0$$

$$\text{or, } y_{m+2} \alpha^2 + 2n \alpha y_{m+1} + \frac{n(n-1)}{2} y_m \alpha^2 + y_{m+1} \cdot \alpha + n y_m = 0$$

$$\text{or, } y_{m+2} \alpha^2 + \alpha y_{m+1} (2n+1) + [n^2 - n + n+1] y_m = 0$$

$$\text{or, } y_{m+2} \alpha^2 + \alpha y_{m+1} (2n+1) + (n^2 + 1) y_m = 0$$

proved.

$$\text{or, } \alpha^2 y_{m+2} + (2n+1) \alpha y_{m+1} + (n^2 + 1) y_m = 0 \text{ proved.}$$

Q. 10.  $\rightarrow$  If  $y = \sin(m \sin^{-1} x)$ , prove that

$$(i) (1-x^2)y_2 = \alpha y_1 + m^2 y = 0$$

$$(ii) (1-x^2)y_{m+2} - (2n+1)\alpha y_{m+1} + (m^2 - n^2)y_m = 0$$

Ans.  $\rightarrow y = \sin(m \sin^{-1} x)$

D. b. s. wr. f. x, we have

$$y_1 = \cos(m \sin^{-1} x) \times \frac{m \times 1}{\sqrt{1-x^2}}$$

$$y_1 \sqrt{1-x^2} = m \cos(m \sin^{-1} x)$$

Squaring both sides, we have

$$y_1^2(1-x^2) = m^2 \cos^2(m \sin^{-1} x)$$

$$y_1^2(1-x^2) = m^2 [1 - \sin^2(m \sin^{-1} x)]$$

$$y_1^2(1-x^2) = m^2(1-y_1^2)$$

Again D. b. S. w. r. to  $x$ , we have

$$2y_1 y_2 (1-x^2) + y_1^2 x - 2x = m^2 (-2y_1 y_2)$$

$$2y_1 [y_2(1-x^2) + x y_1] = -m^2 2y_1 y_2$$

$$y_2(1-x^2) + x y_1 = -m^2 y_2$$

$$\text{or } y_2(1-x^2) - x y_1 + m^2 y_2 = 0 \text{ Proved}$$

① रकने पर व्यर्थ साबित होना  
 ② रकने पर शुरू से पूरा सिद्ध  
 Proved नहीं होना और  
 में ही होना है।

Diff.  $n$  times by Leibnitz's theorem, we have

$$y_{n+2}(1-x^2) + n_1 y_{n+1} x - 2x + n_2 y_n x - 2 - [y_{n+1} x + n_1 y_n] + m^2 y_n = 0$$

$$\text{or } y_{n+2}(1-x^2) - 2n x y_{n+1} - \frac{2n(n-1)}{2} y_n - x y_{n+1} - n y_n + m^2 y_n = 0$$

$$\text{or } y_{n+2}(1-x^2) - x y_{n+1} (2n+1) - y_n (n^2 - 2n + 1 - m^2) = 0$$

$$\text{or } y_{n+2}(1-x^2) - x y_{n+1} (2n+1) - (n^2 - m^2) y_n = 0$$

$$\text{or } y_{n+2}(1-x^2) - x y_{n+1} (2n+1) + (m^2 - n^2) y_n = 0 \text{ Proved}$$

③ ④ If  $y = \cos(m \cos^{-1} x)$  Prove that

$$(1-x^2)y_{n+2} - (2n+1)xy_{n+1} + (m^2 - n^2)y_n = 0$$

Ans.  $\rightarrow y = \cos(m \cos^{-1} x)$

D. b. s. w. r. t.  $x$ , we have

$$y_1 = -\sin(m \cos^{-1} x) \times \frac{m}{\sqrt{1-x^2}}$$

$$y_1 \sqrt{1-x^2} = -m \sin(m \cos^{-1} x)$$

Squaring both sides, we have

$$y_1^2 (1-x^2) = m^2 \sin^2(m \cos^{-1} x)$$

$$y_1^2 (1-x^2) = m^2 [1 - \cos^2(m \cos^{-1} x)]$$

$$y_1^2 (1-x^2) = m^2 (1-y^2)$$

~~Diff. n times by Leibnitz's theorem, we have~~

Again D. b. s. w. r. t.  $x$ , we have

$$2y_1 y_2 (1-x^2) + y_1^2 x + 2x = m^2 (-2y_1 y_1)$$

$$y_2 (1-x^2) - x y_1 = m^2 y_1$$

$$y_2 (1-x^2) - x y_1 + m^2 y_1 = 0$$

Diff. n times by Leibnitz's theorem, we have

$$y_{n+2} (1-x^2) + n C_1 y_{n+1} x - 2x + n C_2 y_n x^{-2} - [y_{n+1} x + n C_1 y_n] + m^2 y_n = 0$$

$$\text{or, } y_{n+2} (1-x^2) - 2n x y_{n+1} - \frac{2n(n-1)}{2} y_n - x y_{n+1} - n y_n + m^2 y_n = 0$$

$$\text{or, } y_{n+2}(1-x^2) - xy_{n+1}(2n+1) - y_n(n^2 - x^2 + x^2 - m^2) = 0$$

$$\text{or, } y_{n+2}(1-x^2) - xy_{n+1}(2n+1) - (n^2 - m^2)y_n = 0$$

proved.

Q10 → If  $y = \sin^{-1} x$ , prove that

(i)  $(1-x^2)y_2 - xy_1 = 0$

(ii)  $(1-x^2)y_{n+2} - (2n+1)xy_{n+1} - n^2y_n = 0$

Ans. → ∵  $y = \sin^{-1} x$

D. b. s. w. r. t.  $x$ , we have

$$y_1 = \frac{1}{\sqrt{1-x^2}}$$

or,  $y_1 \sqrt{1-x^2} = 1$

~~Again D. b. s. w. r. t.  $x$ , we have~~

Squaring both sides, we have

$$y_1^2 (1-x^2) = 1$$

Again D. b. s. w. r. t.  $x$ , we have

$$2y_1 y_2 (1-x^2) + y_1^2 x - 2x = 1$$

$$2y_2 (1-x^2) - xy_1 = 0 \quad \left[ \begin{array}{l} \text{① रटने पर थड़ी खातिर हो गया} \\ \text{② रटने पर शुरू से पूरा खिस्का} \end{array} \right]$$

Diff.  $n$  times by Leibnitz's theorem, we have

$$y_{n+2}(1-x^2) + nC_1 y_{n+1} x - 2x + nC_2 y_n x^2 - [y_{n+1} x + nC_1$$

= 0

$$\text{or, } y_{n+2}(1-x^2) - 2nx y_{n+1} - \frac{n(n-1)}{2} x y_n x^2 - y_{n+1} x$$

$$\text{or, } y_{n+2}(1-x^2) - x y_{n+1}(2n+1) - [n^2 - n + n] y_n = 0 \quad n y_n = 0$$

$$\text{or, } y_{n+2}(1-x^2) - x y_{n+1}(2n+1) - n^2 y_n = 0$$

proved

(32) If  $y = \tan^{-1} x$ , prove that  ~~$(1+x^2)y_{n+1} + 2nx y_n$~~

$$(1+x^2)^2 y_{n+1} + 2nx y_n + n(n-1) y_{n-1} = 0$$

Ans.  $\Rightarrow \because y = \tan^{-1} x$

D.B.S.W. of  $\tan^{-1} x$ , we have

$$y_1 = \frac{1}{1+x^2}$$

$$(1+x^2) y_1 = 1$$

Diff. n times by Leibnitz's theorem, we have

$$(1+x^2) y_{n+1} + n C_1 2x y_n + n C_2 y_{n-1} \cdot 2 = 0$$

$$\text{or, } (1+x^2) y_{n+1} + 2nx y_n + \frac{n(n-1)}{2} y_{n-1} x^2 = 0$$

$$\text{or, } (1+x^2) y_{n+1} + 2nx y_n + n(n-1) y_{n-1} = 0$$